
SequênciaÊFibonacci:Ê
FunçãoÊFibonacciÊ(intÊx)

FunçãoÊFibonacciÊ(3)

seÊ(xÊ=Ê0ÊouÊxÊ=Ê1:
retorneÊx;

senão:
retorneÊfibonacci(x-1) +Êfibonacci(x-2)

FunçãoÊFibonacciÊ(2)

seÊ(xÊ=Ê0ÊouÊxÊ=Ê1:
retorneÊx;

senão:
retorneÊfibonacci(2-1) +Êfibonacci(2-2)

FunçãoÊFibonacciÊ(1)

seÊ(xÊ=Ê0ÊouÊxÊ=Ê1:
retorneÊx;

senão:
retorneÊfibonacci(2-1) +Êfibonacci(2-2)

FunçãoÊFibonacciÊ(0)

seÊ(xÊ=Ê0ÊouÊxÊ=Ê1:
retorneÊx;

senão:
retorneÊfibonacci(2-1) +Êfibonacci(2-2)

FunçãoÊFibonacciÊ(1)

seÊ(xÊ=Ê0ÊouÊxÊ=Ê1:
retorneÊx;

senão:
retorneÊfibonacci(2-1) +Êfibonacci(2-2)
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